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Coordinate Geometry:

The Line

Section 1.3 The equation of a line
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~( Example 1 )

Find the equation of the line through the point (=2, 3) which is perpendicular to the
line2x —y+5=0.
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Find the value of k if the lines 2x + ky + 5 =0 and (k + 6)x + 2y — 9 = 0 are
perpendicular to each other.
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~ Example 3 )

Find the equations of the line / through the point (4, 2) so that the area of the triangle
formed by / and the positive x and y-axes is 25 square units.
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17. Theline £;:3x — 2y + 7 = 0 and the line {,: 5x + y + 3 = 0 intersect at the point P.
Find the equation of the line through P perpendicular to €,.
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18. Find in terms of k the coordinates of the points where the line 3x + 4y = k cuts the x-axis

and y-axis.

If the area of the triangle formed by 3x + 4y = k and the positive x and y axes is 24 square

units, find the value of k.
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